BMOH N R E

aF A TH

R A HOE BN A AbiiEE S A

IR THF BT



1. RESEEL

4. L

5. #

P

i

i =

R EHEEIE BTG D R AT
SN ML) BT

(A) dkifiE BJIER  HrEmT = EE

() kg BJIER  HERT S

(5)

(&)

(5)

(&)

(H)

(&)

(H)

()
HER—Y 7 70m
U AR 7 0[H]
JE (G AT PE R R 4 [A]
ALK T R R 4[]
KT R 2 &AL - (7]
BB 4132 Y—xX
e b A IR [ 1 0. O 7Knm
MAER— Y o TIRMT 70m
H &f 4% 98 130 ~ E 4Sf 5F 2H  9H ( 150HR[)



i
i
vy
&
T

WA EHA B L i e e e
™ & - % Moo B Ao ¥ & &  #
B R R A S
TR TR = 1 6, 908, 408
HER—V 7 Mkt -2 ¢ 66 mm SEFSH Jraryrs m 17.4
A=Y 7 BHEUD T ¢ 66 wm SHETFH /svarlos m 40
FER—V Y EABELOVEW ¢ 66 mm SEFS /Jrariyrs m 12.6
FEUE AR ] 70
Ty vy —A—ZBRER LA fRER) T =] 4
HFARNARH] (5 A 2 — KAL) &P - (5] 2
SN A R A bR [=] 4
TR RRER i OB BRIk ==X 12
TR & KRR T E =X 12
HERER ok ERERTTE (520 oH) 3080, 5ke LT =X 12
TEEER T OURPERR S - YRVERR S EER T 1k =X 4
TR ERER RSO Y= 1
SRR (FIRIEATY) =, 1
e fi M O A+ =, 1
R BRRER i 3
A FLEAZE & T 4
GG, RS (FE0. 3mLLT) & T 2
ERER BRHEY (30° ~45° ) AT 2
A S S A ES 1
ASEMH] MR RE] IX1 [=] 12
AiEE - B - fEIAE = 1 845, 844
TEHEER A AmEEr - Y - HIAR 2V 1
=+ HAR S T — % X — A E = 1 8, 000
E - HARE T — F _X— ARE AEk = 1
spixdh =, 1 3, 683, 269
e = 1 7,164
HEHERK R & [=] 12
BATHETS - EH A2 = 1 853, 849
LR E (A) km 1. 48
i e BT B E R km 0.07
AR — VU TR m 70
HAfi¥Es SREtiaw = 1
HAfr s - HBRE = 1 132, 000
Ay sm# - B34 - HIAE 5 1
Z DOt JEH =, 1 459, 764
— RS FL Y 1 771, 702
o=l = 1 13, 670, 000




